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ENVIRONMENTAL STUDIES
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Time : Three Hours] fMaximum Marks : 100

Note : This paper is divided into three Sections— A, B and C.
Section-A contains Descriptive Answer Questions.,
Section-B contains Short Answer Questions and
Section-C contains Very Short Answer Questions.

Attempt all the Sections as per instructions.
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Section-A

Tqus-H
(Descriptive Answer Questions)

(g salig aw)

This Section contains six questions, attempt any three
questions. Each question carrics 20 marks. Answer
must be descriptive. 20x3=60

59 @°s 3§ B: 9gA 3, el 4N U9 A & i
S U9 20 3 & ¥ 1 Foege SR R ¥

Define environment Give the importance of
environmental studies in modern age.

e S oftmr @ | wge gn § 9
AT FT FEd ST |

Explain the causes responsible for the degradation of
soil resources and their adverse effects on
environment. https://www.ccsustudy.com
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Classify Ecosystem.
gl o= @ avfiga HifTT |

'India is a mega diversity nation.' Explainit.

‘AT 3Tcafeyer fafergar amen 3w 2 | T i |

Write an essay on the protection of wildlife in India.
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Evaluate population explosion in India.
AR § e faemie #t g Sifvw
Section-B
qU=q
(Short Answer Questions)
(Wg s9dhg o)

This Section contains three questions, attempt any wo
questions. Each question carries 10 marks. 10x2=20

= @S § dF u9 &, f6dl A ueet 3t gq SR |
% 99 10 SfH A 2 )

Write short notes on any two of the following :

ol & | Redt & W it fewfmr i
(a) Depletionof Ozone layer
STISTHT QX 1 &
(b) Teaching methods of Environmental studies
qgiaor e 3 e Ryt
(c) EffectofEcological Pyramid.
iRfRafe Rfe & wvma

Give the suggestions to make family planning
programme successful.

RER FEeT FEEA ® g% T 3 e gea
& |

What is meant by Radio Active Pollution 7 Suggest
measures to check it.

WAt sgar & v At arer S | gad
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Section-C
-9
(Very Short Answer Questions)
(oY g Sl )
This question contains five parts, all parts are
compulsory. There i1s no intemal choice. The answer
of each part should be between 20 to 30 words. Each
part carries 4 marks. 4x5=20

59 9 3 919 907 &, g 9r7 AfEd & 1 T B
ARE T+ & {FHeq 721 & 1| TdF 9T & IaW 20
¥ 30 =7 § R | SAF A4 AR FE |

(a) Industrial development and Environmental

degradation.

NPy e Td qataReT B |
(b) Effortsofeco-developmentinIndia.

AR 7 HiaE 3 5 |

(¢) National Human Right Commission.

T FHEATEHIR AT |

(d) RoleofmediainEnvironmental Education.
qaterrer R i 3 gt

(e} Valueeducation.
e Fare |
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18039
B. B. A. Examination, Dec. 2013

Book-keeping and Basic Accounting
(BBA-104)
(New)

=]
LS

[Maximum Marks :

Note : Attempt questions from each Section as per

]

instructions. Use ot calculator is allowed.

Section-A
(Very Short Answer Questions)

Attempt all the five questions of this Section.

Each question carries 3 marks. Very short answer

is required not exceeding 75 words. Ix5=15
Differentiate  between  book-keeping  and
accounting.

What are the basic concepts of accounting?

https://www.ccsustudy.com
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How are accounts classified? State the rules of

journalising with respect to each class of account.

Define Bank Reconciliation Statement.

Differentiate between Profit and Loss Account

and Balance Sheet.

Section-B

(Short Answer Questions)

This Section contains three questions, attempt any

two questions. Each question carries 72 marks.

Short answer is required not exceeding 200

words. 7%4x2=15

What are subsidiary books? Explain with

illustrations.

Explain the different methods of preparing trial

balance.

4.
5.
6.
7.
8.
(a)
(b)
(c)
18039

State the meaning of the following :

Petty cash book

Adjustment for closing stock in final
accounts

Issue of bonus shares.

https://www.ccsustudy.com
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Section-C

(Detailed Answer Questions)

This Section contains five questions, attempt any

three questions. Each question carries 15 marks. ~

Answer is required in detail. 15%3=45

Prepare three columns cash book from the

following transactions :

T
2012
July 1 Balance of cash 800
” 1 Bank overdraft 1,000
T4 Received from Ram and 3,000
discount allowed to him 50
» 5  Received for cash sales :
Cash ¢ 1,000 and Cheque ¢ 500 1,500
» 8  Paid to Dinesh Cash 300
Cheque 200
* 10 Furniture bought for private use 500
” 15 Withdraw for office use 500

https://www.ccsustudy.com
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(4)
T 18 Received cheque from Rakesh
and deposited into the Bank 5,000
20 Gupta paid directly into our bank

account 3,000
25 Sales against bearer cheques 1,000
31 Salary paid to clerk for cash 500

Rent paid by cheque 400

Insurance premium paid by cheque 300

On 1Ist April, 2012, Satyapal was the holder of
500 shares of ¥ 10 cach of Motor Cars Ltd. He
has paid T 2 on application and T 2 on allotment
but he could not pay T 2 on first call and T 4 on
final call. At a meeting of the Directors held on
that day his shares were forfeited for non-
payment of the first and final callsof T 2 and T 4
per share respectively. On Ist May, 2012, these
shares were re-issued as fully paid to Satyavan
for T 4.500. Give the journal entries for
recording these transactions in the books of

Motor Cars Ltd.

18039
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11. From the following balances, taken from Sundry Creditors 10,000
accounting books of Sri Om Prakash, prepare Sundry Debtors 28.000
Trading and Profit & Loss Account for the year Carriage Outward 400
ended as on 31st March, 2012 and a Balance Wages 30,000
Sheet as on that date : Salaries 18,000
Head of Account Amount (7) Factory Lighting 800
Capital 20.000 = = Travelling Expenses 1,200

7 7 Bills Payables 1,500
Stock (Ist Aprnil, 2011) 16,000 = =

z Z Rent, Taxes and Insurance 5,250
Purchases 75.000 ; ; Drawings 5,000
Sales 2,00.000 g g General Expenses 12,200
Sales Return 5,000 % % Adjustments :
Purchases Return 2,000 § § (i) Stock on 31st March, 2012 was valued at
Carriage Inward 1,500 T 30,000 (market value T 20,000).
Plant and Machinery 40,000 (i) Prepaid insurance amounted to T 150.
Furniture and Fixtures 5,000 (iii) Wages and salaries are outstanding amounting
Frechold Properties 45,650 to T 2,000 and T 1,500 respectively.
Cash in Hand 5,000 (iv) Provide depreciation on plant and machinery
Discount (Cr.) 500 at 5% and on furniture and fixtures at 10%.

18039 18039
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What do you mean by rectification of errors?

How errors are rectified? Explain with examples.

What do you mean by depreciation? Discuss the

different methods of depreciation.

https:/www.cesustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
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o (Printed Pages 4)
(21213) Roll NO. ..cvevriresinranansan
BBA - | Sem.

NP-3039

B.B.A. Examination, Dec. 2013
Business Communication
(BBA-102)

(Old Course-I)

Time : Three Hours | [Maximum Marks : 75

Note: Attempt all the Sections as per instruc-
tions.
Section - A
(Very Short Answer Questions)

Attempt all five questions. Each ques-
tion carries three marks. Very short an-
swer is required not exceeding 75 words.

5x3=15

1. What do you mean by Communication.

P.T.O.
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2. What do you mean by Mock Interviews,

3. Give the objectives of Sale Letter.

4. What is ORAL REPORT.

5. What is Effective Listening.

Section - B
(Short Answer Questions)

Note: Attempt any two question out of the fol-
lowing three questions. Each question car-
ries 7/V2 marks. Short answer is required
not exceeding 200 words.

6. Are there any objectives of Communication,

If yes, give them. 72

7. What do you understand by GRICE maxims.

Discuss in shorts. 72

8. Give an Example of CREDIT Engnires. 72

NP-3039/3000/2
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Section-C

(Detailed Answer Questions)

Note: Attempt any three questions out of the

\0

[
©

11.

NP-3039/3000/3

following five questions. Each question
carries 15 marks. Answer is required in
detail. 3x15=45
Write Essay on the following: 5x3=15
(a) Classical Communication Models.

(b) Early Linear Models

(c) No-Linear Models.

(d) Multidimensional Models.

(e) Suggestion for Communication models.
What do you know about groups. What are
its types. How can a Group Discussion be
made effectives. 15

What do you understand by writing skills.

What are the different stages of letter writ-
ing. 15

P.T.O.
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Discuss the Principles of Oral Presentatioh in
detail. Also explain the factors affecting it.

| 15
What is an e-mail. How it is originated ? Enu-

merate its main features. 15

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
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18042

B. B. A. Examination, Dec. 2013
BUSINESS ETHICS
(BBA-107)

(New)

[Maximum Marks : 75

Attempt all the Sections as per instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required
not exceeding 75 words. 3x5=15

Define ethical values.

https://www.ccsustudy.com
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d2)

‘Describe work-life balance.

Explain the term TQM.
What is philosophy of trusteeship ?

Describe social audit,

Section-B
(Short Answer Questions)
Attempt any fwo questions out of the following three
questions. Each question carries 77 néa;ks._ Short
answcr is required nol;exceédiﬁg 200 ﬁ;'orcis?,; TVix2=15

Discuss the nature of Business Ethics.

Discuss the relationship between ethics and corporate

excellence.

18042

https://www.ccsustudy.com

o ————— —

[R——

wo' Apmsnsdd mam//sdiy



wod Apmsnsdd mam//sdiy

hed

10.

11.

12.

18042

https://www.ccsustudy.com

= . {3}3‘-

Explain the importance of social audit in present era.

Section-C
(Detailed Answer Questions)
Attempt any three questions out of the following five
questions. Each question carries 15 marks. Answer is
required in detail. 15x3=45

Explainin detail the Indian values for the work place.

What is organizational culture ? Discuss how it can

build ethical values in the organization. 5+15

Write notes on the following :
(i) Corporate mission statement

(ii) CodeofEthics.

Describe the Gandhiil's seven greatest social sins.

https://www.ccsustudy.com
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Explain why is it important for a corporate to work as

socially responsible entity.

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
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o Printed P 3
(Printed Pages 3) from B was ten years old although B
(21213) ROl NO. «.ccccviinnaiianiiiane has represented that he had purchased
BBA - Ist Sem. it new only four years ago. Can A avoid
0-3040 the contract on the ground of fraud?
B.B.A. Examination, Dec. 2013 3. (a) Explain how a bailment may result with-
BUSINESS LAW out the owner actually delivering the
(BBA-103) - - goods to the bailee.
1 el
(Old Course-II) = % (b) A's goods were bailed with B. B omit-
Time : Three Hours | [Maximum Marks :75 = 3 ted to lock up the goods bailed, locking
. _ § E up similar goods of his own. Decide.
Note : Attempt any five questions. All ques- = =
. &= £ 4. What are the various ways in which a con-
tions carry equal marks. "z "z
g g tract may be discharged?
1. Define consideration. Why is it essential in a = =
5. How is price fixed in a contract of sale? If a
contract? What are the legal rules regarding
price is not determined by the parties, what
consideration?
price, if any, is the buyer liable to pay?
2. (a) What is misrepresentation? Distinguish _ _
6. How will you determine whether a partner-
it from fraud.
ship does or does not exist in a group of
(b) A knows that the car he was buying persons?
P.T.0. 0-304011800\2
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7. Discuss the rules relating to the rights, du-

ties & obligations of partners inter se.

8. Examine to what extent a minor can be a

party to a negotiable instrument.

9. What are the "principles of Utmost Good

Faith" and "Subrogation” as given in the In-

dian Insurance Act, 19387
10. Write short notes on any three of the fol-
lowing :
(i) Sleeping Partner, Nominal Partner &
Partnership Deed.
(i) Discharge of Surety
(iii) Specific & Continuing Guarantee
(iv) Unilateral & Bilateral Contracts.

(v) A Condition & a Warranty.

0-304011800\3
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18037

B. B. A. Examination, Dec. 2013
BUSINESS MATHEMATICS
(BBA-102)

(New)

[Maximum Marks : 75

Note : Attempt questions from cach Section as per

b

instructions.

Section-A

(Very Short Answer Questions)

Attempt all the five questions of this Section.
Each question carries 3 marks. Very short answer

is required not exceeding 75 words. 3x5=15

5 6 7
If matrix A= and A+ B =0, find the
8 9 10

value of B.

Find the power set of B=1{23,5}.

https://www.ccsustudy.com
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(2)

Find the sum of the A.P. 1+4+7+....up to 10
terms.

.. : I
Divide 240 into three parts so that 3 of the first,

I
1 of the second and 5 of the third part are

equal.

Integrate 10°* with respect to x.
Section-B
(Short Answer Questions)

This-Section contains three questions, attempt
any /wo questions. Each question carries 7% marks.
Short answer is required not exceeding 200

words. Thax2=15

. Ay 3 3
d "*!"11 =y =3axy
Fin y axy,

1 2 -

If .'1:{ B= : 2]
3 4 2 —IJ

compute ABC.

In a class, 40 students study either Mathematics
or Statistics or both. 12 students study both
subjects and 17 study only Statistics. How many
students study Mathematics? How many study

only Mathematics?

18037
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Section-C

(Detailed Answer Questions)

This Section contains five questions, attempt any
three questions. Each question carries 15 marks.

Answer is required in detail. 15%x3=45

Solve the following equations using matrix :

Jx+4y+52z=738

2x - y+Bz=33

dx+3y+2z=25.
Mr. A wants to distribute ¥ 51,783 among his
two sons who are respectively 12 and 15 years
old, in such a way that the sums invested @ 5%
p.a. Compound interest will give the same
amount to both of them when they attain the age
of 18 vears. How should he divide the sum?
The demand function and the average cost
function of a manufacturer are P =400-2x and

_ 400
AC=02x+4+ — respectively. If the government

imposcs a tax of ¥ 22 per unit, find the profit

maximising output and price.

https://www.ccsustudy.com
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(4)
If the production function is :

. 9
z=20=-x"+10x~-2v" +5y

and the prices of x and y are ¥ 2 and T 1

respectively and the selling price is T 3,

determine the values of x and ¥ to get maximum

profit. Also, find the profit.

If "p =240 and "C. =120, find n and r.

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
o= que aod da 3R 10 wud o,
Payvim or Google Pay #
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(21213) Roll No. ...coneeeee

B.B.A.-I Sem.

18036

B. B. A. Examination, Dec. 2013

BUSINESS ORGANIZATION

(BBA-101)
(New)
Time : Three Hours/ [Maximum Marks @ 73
Nore : Attemptall the Sections as per instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required
3x5=15

notexceeding 75 words.

1. State and explain the components of business.

13

Describe various important factors which affect the

size of a business units.

https://www.ccsustudy.com
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Enumerate the merits and demerits of sole

proprietorship.

Explain the causes and effects of business

combinations.

Why is the government keen on demutualization of

stock exchange ?

Section-B
(Short Answer Questions)
Attempt any fwo questions out of the following three
questions. Each question carries 7)2 marks. Short
answer is required not exceeding 200 words. 7'4x2=15
Discuss the main factors for the survival of small-size

business units.

What is a joint stock company ? Point out its salient

features.

https://www.ccsustudy.com
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What do you understand by convertible debentures ?
Why have such debentures become popular during

recent years ?

Section-C
(Detailed Answer Questions)
Attempt any three questions out of the following five
questions. Each question carries 15 marks. Answer is
required in detail. 15%3=45
"Business is an enterprise which makes, distributes or

provides any article or service which other members

of the community need." Comment.

Discuss critically the factors which should be taken into
consideration in deciding about the location of an

industrialunit. https://www.ccsustudy.com

Explain the benefits and limitations of cooperative

from of business organization.

https://www.ccsustudy.com
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Describe combination in Indian industries and

explain the government's policy in this regard.

Critically examine the main defects and unfair
practices prevailing on the stock exchanges in India. ~
What measures have been taken during recent vears

witha viewto set themright ?

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
o= que aod da 3R 10 wud o,
Payvim or Google Pay #
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O (Printed Pages 8)
(21213) RO NO. coviererrrenramsssenss
BBA I** Sem.

0-3041
B.B.A. Examination, Dec. 2013

BUSINESS STATISTICS
(BBA-104)

(Old Course-II)

Time : Three Hours [ [Maximum Marks : 75

Note : Attempt any five questions. All questions

carry equal marks.

1. How can Statistics be applied in the fields of
Economics and Business Administration?’
What are the limitations of Statistics. 15

2. (a) What points would you consider while

designing a questionnaire? 8

(b) Explain stratified random sampling. How

P.T.O.
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does stratified sampling differ from clus-

ter sampling? 7

3 (a) What is the difference between mean,

median and mode? lllustrate their use
with the help of examples. 7
(b) Anurag's Videotaping Service recently
bought 6 cases of High Grade, 4 cases
of Performance High Grade and 8B cases
of Standard video tapes. If a case of
High Grade tapes costs Rs. 1250/-, a
case of Performance High Grade tapes
Costs Rs.1800/- and a case of Stan-
dard tapes costs Rs.1000/-, what is the
average cost of a case of tapes to

Anurag? 8

4. (a) A three month study of phone calls

made by employees of Redlight Com-

pany yielded the following data : 8

0-3041\1800\2
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Calls No. of Days
100-200 3
200-300 7
300-400 10
400-500 13
500-600 27
600-700 10
700-800 9
800-900 8
500-1000 3

Compute relative frequencies and draw
"more than" and "less than” 0 gives.
(b) Ram is confronted with the problem of
buying a second hand car. Two equally
good cars are available. He decided to
choose the car which was most con-
sistent. The cars were tested and gave

the following results : 7

0-304111800\3 P.T.O.

https://www.ccsustudy.com
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Average KMs per litre Standard Deviation
Car A 23 7 kms
Car B 25 3 kms
Which car should Ram buy?

5. Calculate Karl Pearson's Coefficient of skew-

ness from the following data : 15
= = Size Frequency
= =
= = 1 10
= =
z z 2 18
Lyl ]

% %

5 & 3 30

£ £

= = 4 25

] o

: :

- - 5 12
6 3
7 2

6. The coefficient of correlation between the
ages of husbands and wives in a community

was found to be +0.8. The average age of

0-3041\1800\4
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husbands was 25 years and that of wives

was 22 years. The standard deviations were

4 and 5 years respectively. Find with the help

of regression equations : 15

(a)

(b)

(a)

(b)

Expected age of husband when wife's
age is 17 years.
Expected age of wife when husband is
33 years old.
Define the coefficient of correlation.
What is it intended to measure? How
would you interpret the sign and mag-
nitude of a calculated r? Consider the
particular values of r=0, r=+1, r=-1.
7
Calculate the coefficient of concurrent

deviation from the following data : 8
P.T.O.
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Price Imports
350 22
384 21
370 25
375 20
377 25 (
340 26
365 24
360 29
375 28
370 20

8. (a) Calculate the trend value by the method

Year

Sales

of least squares from the data given
below and estimate the sales for the

year 2002. 10

1995 1996 1997 1998 1999 (

15 20 22 25 27

(In lakhs of Rs.)

(b) Calculate the standard error of estimate

0-3041\1800\6
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for the above trend line. 5 1994 using 1990 as the base period: 10
9. (a) The quarterly seasonal index of sale of (Price per Kg) Quantity Consumed

icecream in a particular store is given 1990 1993 1994 1990 1993 1994
below : Atta 5 6 8 10 12 15
Quarter Seasonal Index Sugar 4 7 10 4 6 10
Jan-Mar 85 Milk 8 10 12 2 3 4 —
Mar-Jun 97

= =
Jul-Sep 135 S G
Oct-Dec 83 2 z

b= =
The total sales in the first quarter of the = i

7] 7]
year are worth Rs.10,000/-. If the sales § ?

= =
are expected to rise by 5% per quarter, = =

0 0
forecast the worth of sales for each of g 3

the remaining quarters. 10

(b) Write a short note on cyclic variation,

5
https:/www.ccsustudy.com
10. (a) What are the drawbacks of using an Whatsapp @ 9300930012
. Send vour old paper & get 10,
unweighted aggregates index? 5 39 qua Aad 3 T 10 e ord,

Payvim or Google Pay #

(b) Calculate Laspeyer's Index for 1993 and
0-3041\1800\7 P.T.O. 0-3041\1800\8
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0 (Printed Pages 8)
(21213) ROI NO. cevveenrrenernncenanes
BBA-I Sem.

NP-3042
B.B.A. Examination, Dec. 2013
Financial Accounting
(BBA-105)
(Old Course-I)

Time : Three Hours | [Maximum Marks : 75

Note: Attempt all Sections as per instructions.

Use of calculator is allowed.
Section- A
(Very Short Answer Questions)

I

Note: Attempt all five questions. Each question
carries 3 marks. Very Short Answer is re-

quired not exceeding 75 words. 5x3=15

P.T.O.
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1. Give the meaning of Accounting. What are

the Branches of Accounting?

2. What is Bank Reconciliation Statement? Ex-

plain the purpose of preparing such a state-

ment.

3. What rules of partnership are followed in the

absence of Partnership Deed?

4. Whatis meant by convention of consistency?

5. What are the limitations of Accounting Prin-
ciples? https://www.ccsustudy.com
OR

What do you mean by Trial Balance? Explain
the errors which are not disclosed by the

Trial Balance?
Section-B
(Short Answer Questions)

Note: Attempt any two questions out of the fol-
lowing 3 questions. Each question carries

7.5 marks. Short answer is required not

exceeding 200 words. 2x7.5=15
NP-3042\3000\2
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Swati Ltd. whose books are closed on 31st
Dec., purchased a machinery for Rs.50,000
on 1lst Jan. 2002. Additional machinery was
acquired for Rs.10,000 on 1st July 2003 and
for Rs. 16,000 on 1st January 2006. Cer-
tain machinery purchased for Rs. 10,000 on
1st July 2003 was sold for Rs. 5,000 on
30th June 2005. Show machinery account
for 5 years writing off depreciation at 10%
per year on written down value.

From the following information, prepare a

Bank Reconciliation statement as on 31st

December 2011 :

(i) Balance as per Cash Book Rs. 2,700

(ii) Chegques drawn but not presented for
payment Rs. 1,200

(i) Cheques deposited but not yet col-

lected Rs.1,700

NP-304213000\3 P.T.O.

https://www.ccsustudy.com

wo' Apmsnsdd mam//sdiy

woy Apmsnsod mam//sdiy

©

https://www.ccsustudy.com

(iv) Bank charges Rs. 80

{(v) Cheque issued to a creditor for Rs. 800
was by mistake entered in the cash col-
umn of the Cash Book. The same has
not been presented for payment till to-
day.

How would the foliowing errors in the books

of account :

(i) Rs. 5000 received from a customer
posted to credit of partner.

(i) Rs. 2500 sales to Ahmed, posted the
debit of Commission Account

(iii) The Sales Returns Book was undercost
by Rs. 2000

(iv) Rs. 6000 paid for furniture was debited
to Repairs Account

(v) Closing stock was overcost by

Rs. 12000.

NP-3042\30004
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(vi) Rs. 173 discount allowed has been

posted as Rs. 317.
OR
What is a Trading Account? How does it dif-
fer from a Manufacturing Account?
Section-C

(Detailed Answer Questions)

Note: Attempt any three questions out of fol-

9.

10.

11.

NP-3042\3000\5

lowing 5 questions. Each question carries
15 marks. Answer is required in detail.
3x15=45

Define Partnership and its characteristics. Also
explain Partnership Deed.
What is goodwill? Explain clearly the differ-
ent methods of valuation of goodwill.
Megha and Swati share profits & losses
equally. The Balance Sheet of the partners

stood at 31°" December 2011 as follows :

P.T.O.
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Balance Sheet

as on 31° December 2011

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 23,000 | Buildings| 50000
Loan by Swati 30,000 | Debtors | 31,000
Megha's Capital 10,000 | Stock 22,000
Swati's Capital 40,000
103,000 103,000

12.

They decided to dissolve the Partnership. The
realisation of Assets were Building 60%
Delton 70%, Stock 75%. Prepare necessary
accounts,

Dr. Gupta commenced practice on 1% Janu-
ary, 2010. His receipts and Payments Ac-

count for the year was as follows :

NP-3042\3000\6
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Receipts Rs. | Payments Rs.

To Cash 10,000 | By Furniture 9,000

introduced

To Visits 32,000 | By Purchase of | 6,000

lo Receipts 20,000 | Drugs

from dispensing By Rent 3000

fo Miscellaneous 200 | By Conveyance | 2000

Receipts By Lighting 500
By Journals 400
By Drawings 24000
By Balance end | 13300

62,200 m

NP-3042\3000\7

Amounts still receivable on account of visits
and dispensing are Rs. 2000 and Rs. 1200
respectively, salary of compounder stij| pay-
able is Rs. 400, 40% of conveyance is for

domestic purposes. Stock of drugs still on
P.T.O.
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hand is Rs. 1600, amount still payable for
their purchase is Rs. 400. Furniture is sub-

ject to depreciation at 10%.

Prepare the Receipts and Expenditure of

Dr. Gupta for 2010 and his Balance Sheet as

at its end.

Differentiate between :

(a) Outstanding Expenses and Prepaid Ex-
penses

(b) Intereston Capital and Interest on Draw-
ings

(c) Accrued and Unaccrued Income.

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
o= que aod da 3R 10 wud o,
Payvim or Google Pay #
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Roll No. ...coevvinnne.

B.B.A.-1 Sem.

Time :

Note -

18041

B. B. A. Examination, Dec. 2013
FUNDAMENTALS OF MANAGEMENT
(BBA-106)

(New)

Three Hours] [Maximum Marks : 75

Attempt all the Sections as per instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required
not exceeding 75 words. 3x5=15

Discuss arguments for social responsibility.

Explain the economic man model of decision-

making.

https://www.ccsustudy.com
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18041
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(2)

Write a brief note on the importance of organizing.

What are the areas of controlling 7

Differentiate between decision and decision-making.

Section-B
(Short Answer Questions)
Attempt any fwo questions out of the following three
questions. Each question carnies 7'2 marks. Short
answer is required notexceeding 200 words. 7/:%2=15
Explain the personal management as one of the

important functional area of management.

Why is necessary to delegate authority ? Give three

reasons.

Why is it said that "Controlling is blind without

planning" ?

https://www.ccsustudy.com
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10.

11.

12.

18041
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(3)

Section-C
(Delaile:; Answer Questions)"
Attempt any three questions out of the following five
questions, Each question carries 15 marks. Answer is
required in detail. 15%3=45
What is management ? Discuss the nature of

management. Can management reasonable be

regarded as a profession ?

Discuss the essential elements of good planning. Are
there any hmitations of planning ? If so, how can they

be overcome ?

"Organizing is a mechanism of management.”

Discuss. Explain its characteristics also.

What do you fnean by delegation of authority ? Is 1t

unavoidable ?

https://www.ccsustudy.com
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13.
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(4)

"Planning is looking ahead and control is looking

back." Explain it and discuss the process of control.

https:/www.ccsustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
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0 (Printed Pages 3)
(21213) ROIINO. ..ooevrearenrnerennen
BBA - | Sem.

NP-3041

B.B.A. Examination, Dec. 2013
General Economics
(BBA-104)

(Old Course-I)

Time : Three Hours | [Maximum Marks : 75

Note: Attempt all the Sections as per instruc-
tions.
Section - A
(Very Short Answer Questions)
Note: Attempt all five questions. Each ques-
tion carries 3 marks. Very short answer

is required not exceeding 75 words.

1. Liberalization 3x5=15
2. Elasticity of Demand
3. Disguised Unemployment

P.T.O.
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4. Types of Monopoly

5. Giffen’s goods

Section-B

(Short Answer Questions)

Note: Attempt any two questions out of the fol-

lowing three questions. Each question

carries 7.5 marks. Short answer is required

not exceeding 200 words.  2x7.5=15

6. Explain the meaning of differentiated prod-
uct.

7.  What is the relationship between "Total Util-
ity’ and ‘Marginal Utility"?

8. What is Mixed Economy?

Section - C
(Detailed Answer Questions)
Note: Attempt any three questions out of the

following five questions. Each question

NP-3041/3000/2
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11.

12,

13.

NP-3041/3000/3
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carries 15 marks. Answer is required in

detail. 3x15=45
‘Scarcity and problem of choice are the ba-
sis of all economic problems’. Discuss.
Discuss various measures adopted by gov-
ernment to eradicate poverty?
What do you understand by direct and indi-
rect taxes? What are their merits and de-
merits? Explain the relationship between the
two.
Distinguish between ‘Market price’ and "Nor-
mal Price’. Explain both type of price deter-
mination.

‘Population is an asset as well as a liability

for the nation’. Explain.

https:/www.cesustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
oS gy dofr dr 3R 10 wod o,
Paytm or Google Pay 3
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0 (Printed Pages 4)

(21213) ROIINO. «.cveverererasvesenses
BBA-I*' Sem.

NP-3040
B.B.A. Examination, Dec. 2013

Mathematical Foundation for Business

Administration
(BBA-103)
(Old Course-l)

Time : Three Hours | [Maximum Marks : 75

Note: Attempt all sections as per instructions.
Section - A
Note: Attempt all questions. Each question car-
ries 3 marks.

1. Suppose Babu Singh wants to buy a car af-
ter 5(five) years when it is expected of cost
Rs. 4,00,000. How much should he save
annually is his saving earn a compound re-
turn of 15%. 3
P.T.O.
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2. If A and B are two sets such that
n(A) = 27, n(B) = 35 and n(A ~B)=50.
Find n(A : . B) 3
3. Find the derivative of the following function
y = (log x)*™ 3
4. Dothe following limit exists? If yes find them
lim x sin 1/x 3

5. Show that the matrix

cos 6 O sin(ﬂ
A = 0 1 0

| iIs orthonal. 3
[—sinll 0 cost

Section-B
Note: Attempt any two questions. Each ques-

tion carries 7.5 marks.

1T 1 -1 -1 -2 -1
6. If A=|-2 3 -4, B=[6 12 6],
|3 -2 3 5 10 5
Prove that AB = 0 but BA=0. 7.5
1
7. Evaluate I- j . dx 7.5
1+ sinx

NP-3040\3000\2
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8.

Note: Attempt any three questions. Each ques-

https://www.ccsustudy.com

Prove that 7.5

Voos

\VE'-E'A-1- E'

Section-C

tion carries 15 marks.

. dy ) 3at 3at?
72
1 . .
(b) Evaluate J;S'” x.dx 7
10. (a) Prove the following identities 72
x y Z|
x* y? & - zyr(x-y)(y-z)(z-x)
!x3 y? 2
(b) The following table is given 72
X 0 1 2 3 4
filx):| 3 | 6 11 18 27
What is the form of function f(x) by
Newton Interpolation formula.
NP-3040\3000\3 P.T.O.

https://www.ccsustudy.com
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11. (a)
(b)
12. (a)
(b)
13. (a)

https://www.ccsustudy.com

Prove that the maximum value of

sSin x+ cos x is 2 72
From a pact of 52 cards, two cards are
drawn at random. Find the Probability
that one is king and other a queen.7'%
To prove that 7'
ncr + ncr_l — |'1+1|.Cr

"P, =20 x "P, find n. 72
A survey shows that 73% of the Indians
like apples, where as 65% like oranges.
What percentage of Indians like both

apples and oranges. 72

fa-i 2 % &
13 4

3 -2 1
B- 10 -1 471 6nd AB. 7,
5 2 -1

NP-3040\3000\4
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0 (Printed Pages 3)
(21213) ROI NO. cevvveverecasnnusnenes
B.B.A. - | Sem.
NP-3038
B.B.A. Examination, Dec. 2013
Principles of Management

(BBA-101)

(Old Course-I)

Time : Three Hours | [Maximum Marks : 75

Note: Attempt all the Sections as*per instruc-
tions.
Section - A
(Very Short Answer Questions)

Note: Attempt all five questions. Each ques-
tion carries 3 marks. Very short answer

is required not exceeding 75 words.
3x5=15

1. Management is both a science and an Art.
Explain. 3
2. What are the decisional Role of manager? 3

P.T.O.

https://www.ccsustudy.com

wo' Apmsnsdd mam//sdiy

woy Apmsnsod mam//sdiy

https://www.ccsustudy.com

3. What is meant by feedback in communica-
tion process. 3
4. What is organizational structure? 3
5. What are the indicators of decentralisation?3
Section-B
(Short Answer Questions)

Note: Attempt any two questions.
6. Explain the features and process of motiva-

tion. 72
7. Describe the process of decision-making.7'z
8. Explain the main theories of Leadership.7Y2

Section - C
(Detailed Answer Questions)

Note: Attempt any three questions.
9. “Management is the art of knowing. What

do you want to do and then seeing that they

NP-3038/3000/2
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10.

11.

12.

13.
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do it in the best and cheapest way.” Explain
this statement. 15
Explain briefly the various types of plans

which a manager must devise to accom-
plish the objectives of his organization. 15
Distinguish between centralization and de-
centralization. How does a decentralized set-
up score over a centralized one? 15
Evaluate the formal communication and
highlight the types of formal communica-
tion. 15
“Planning is looking ahead and controlling is

looking back”. Explain this statement. 15

https:/www.cesustudy.com
Whatsapp @ 9300930012
Send vour old paper & get 10,
oe que aod dar 3R 10 wud o,
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(21213)
B.B.A.-I Sem.

18038

B. B. A. Examination, Dec. 2013
Principles of Economics
(BBA-103)

(New)

fime © Three Hours]

Nore © Attemptall the Sections as per instructions.
¥ Gt Y FRATEER g BT |
Section-A
qUz-H
(Very Short Answer Questions)

(o 7y S 7))

Attempt all the five questions. Each question carries

3 marks. Very short answer is required not exceeding

75 words,

79 1 991 % I o | Ul gew 3 iR e

Hferpad 75 T 7 AT 7Y I AU & |

https://www.ccsustudy.com
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3x5=15
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(2)

Who was the author of "Wealth of Nations' ?

"Wealth of Nations' A& &6 & GG & & 7

Write the name of 'ty pes of demand'.

‘G $ g B A e |

What is monopoly ?

TFHIHIT Far & ?

Write the name of "factors of production”.

“IWEA D g & s R

What is interest ?
AT TS ?

Section-B

qg-q
(Short Answer Questions)

(7 sala aw)

Attempt any two questions out of the following three
questions. Each question carries 7' marks. Short
answer is required not exceeding 200 words. 7%x<2=15

Frafefea & set & & Reedt & nt @ sox Aty
SR G 70 S B R 1 e 200 9= F @y
I AR 2 |

Q,=500 P,=10
Q,=600 P,=9

Calculate price elasticity of demand by the Arc
method.

|rq fafy F S 5 3 d 9 o At
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What are the characteristics of perfect competition ?

ot srfevanfever &) fageend @ € 7

Explainin brief"Recardian theory of Reant'.

st 3 et & am= Ryar aemen

Section-C
TUE-{
(Detailed Answer Questions)

(g sl o)

Attempt any three questions out of the following five
questions. Each question carries 15 marks. Answer is
required in detail. 15%3=45

Frefefea dre st % F Rt @9 o 3 3e At
Tl 99T 15 S # 8 ) Forge g o &

"The fundamental problem is the 'problem of choice"."

Explain this statement in detail.
" AR G B e B g8 F # R
| qIEET |

What do you understand by Demand Curve ? With the
help of diagram explain the "law of demand'.

AT 9 | Y 1 g9 ¥ ? AT P Yafs
%l HEar § US|
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4)

il. Explain with an example 'the law of diminishing
retims’.

"I BT T @ ST Gl ST St |

12, How 1s price determined under monopolistic
competition ?
e A F g@ & Feke a8 8

?

iy

What is the meaning of profit 7 Explain the modem
theory of profit.

& o oM 2 7 A % g feer @
TR |
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